CS6102 — Computational Thinking

Week 4 (Dec 7, 2022)

Logical Reasoning

Solve the Following

1.

Look at this series: 58, 52, 46, 40, 34, ... What number should come next?
a.26b.28c.30d. 32

Look at this series: 1.5, 2.3, 3.1, 3.9, .. . What number should come next?
a. 4.2b.44c.4.7d.5.1

282552118514
a. 115b.107¢c.118d.510e.105

1329152617 2319
a. 2123b.2021c.2017d.2527e.2220

Look at this series: 664, 332, 340,170, __, 89,... What number should fill the blank?
a. 85b.97c.109d.178

Look at this series: U32,V29, _, X23,Y20, ... What number should fill the blank?
A.W26b.W17c.Z17 d. 226

DEF DEF2 DE2F2 D2E2F3
a. DEF3 b.D3EF3 c. D2E3F d. D2E2F2
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a.E7V
b. V2E
c. VE5
d. VE7
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19. Which word does NOT belong with the others?
a. unimportant
b. trivial

c. insignificant

d. familiar

20. P5QR P4QS P3QT PQV
a. PQW
b. PQV2
c. P2QU

d.PQ3U




